LTV for ACM Exercise

What is the LTV for ACM's customers. Since it wasn't given, we need to make some assumptions. 
First average customer life: well, if you signed up as a freshman and renewed till you left school, that would be 4 to 5 years on average. Since they probably lose some students along the way, and some students don’t sign up until later years, let's just estimate about 3 years. That may be off a little, but not too much. 

Profits? The first year (initial order) profits seem to range from -$4.94 to +$5.43. If you calculate the weighted average, you get $0.80 per order. But, after the first year, they don't incur the commissions or upfront costs for renewals, so they make $15 per order ($32-$17) minus any costs to get the renewal offer into the students’ hands directly. Let’s just assume they can get that done for about $5 per order, leaving a profit of $10 per order for years 2 & 3.
So, the LTV should be around $0.80+ $10 + $10, or $20.80 for the entire four years. At a discount rate of 6%, that equates to a Net Present Value of $19.13, since it's only 3 years. 

Now then, with this info, although based on assumptions and estimates, you should be able to make some determinations about what you want to do with the various channels. However, in addition to crunching the numbers, you should be creative. Are there marketing actions that you can take to improve some of the channels? Are there some that are hopeless? If you eliminate any of the channels, what will the effect on the remaining channels?
Remember, you are the marketing VP, so it's your job to come up with the strategy. Let me know if you have more questions.
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